PEE~oe

®
®
N
ApxaHrenbck (8182)63-90-72  MeBck (3412)26-03-58 MarnuToropck (3519)55-03-13 Mepmb (342)205-81-47
AcTaHa (7172)727-132 WpkyTck (395)279-98-46 Mocksa (495)268-04-70 PocToB-Ha-[JoHy (863)308-18-15
AcTtpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 MypmaHck (8152)59-64-93 Ps3aHb (4912)46-61-64
BapHayn (3852)73-04-60 KanunuHrpag (4012)72-03-81 HabGepexHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
Benropop (4722)40-23-64 Kanyra (4842)92-23-67 HwxHuii Hosropopg (831)429-08-12  CankT-MNeTtepbypr (812)309-46-40
BpsHck (4832)59-03-52 KemepoBgo (3842)65-04-62 HoBoky3aHeuk (3843)20-46-81 Caparos (845)249-38-78
BnapusocTok (423)249-28-31 Kwupos (8332)68-02-04 HoBocunbupck (383)227-86-73 CesacTonons (8692)22-31-93
Bonrorpag (844)278-03-48 KpacHopap (861)203-40-90  Omck (3812)21-46-40 Cumdpeponons (3652)67-13-56
Bonorpa (8172)26-41-59 KpacHospck (391)204-63-61  Open (4862)44-53-42 CwmoneHck (4812)29-41-54
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeHbypr (3532)37-68-04 Coun (862)225-72-31
ExkaTtepuHbypr (343)384-55-89 Juneuk (4742)52-20-81 MeH3a (8412)22-31-16 CrtaBpononb (8652)20-65-13
WBaHoBo (4932)77-34-06 Kuprusus (996)312-96-26-47 KasaxctaH (772)734-952-31 TapxvkucTaH (992)427-82-92-69

EpnnHbIn appec ansa Bcex pernoHoB: bda@nt-rt.ru || www.bodysolid.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsHoBCK (8422)24-23-59
Ydba (347)229-48-12
Xabaposck (4212)92-98-04
YensabuHck (351)202-03-61
Yepenosewy (8202)49-02-64
Apocnaenb (4852)69-52-93



PPB—32

HARDWARE ILLUSTRATION SHEET

PAGE 1

Al. M10x70 HEX HEAD BOLT [4PCS]| A1 D1
A2. M10x65 HEX HEAD BOLT [1PCS] et
A3. 5/16"x25 HEX HEAD BOLT [6PCS]| AR
Bl. M10 NYLON LOCK NUT [5PCS] e
C1. M10 (I.D) WASHER [6PCS]| A3
c2. 5/16" (1.D)WASHER [ePCs]| . G- S
C3. 5/16” SPRING WASHER [6PCS] o -
D1. 2" X 2" END CAP (E4028) [4PCS]| ¢1 <
D2. HEIGHT ADJUSTMENT KNOB (E1007) — [1PCS]
' D3. 1 1/2"X1 1/2” RUBBER BAR CATCH (E2008) [RPCS] c2 > D4 %
D4. 1 1/2” X 3" RUBBER BAR CATCH (E2005) — [2PCS]| c3
2
PARTS ILLUSTRATION SHEET
A [1PCS] D [1PCS] E [1PCS]
;.é \n
B [1PCS]
K K -
G [1PCS]
C [1PCS]




PPB—3<

PAGE 2




